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1
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1 1
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α + β
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+
= = α + β =
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1 22:
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3

3

2
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3
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3
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π

= = − 
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π π
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π π
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π π
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---------------------------------------------- 
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2 221 12− = − = 
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π
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=

=
⎯⎯⎯⎯⎯⎯→ = =
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2
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:
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=
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----------------------------------------------   
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3 2 2 2 3 3 10− + − + − =
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----------------------------------------------   
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= .
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×
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----------------------------------------------   

105- »3«)  (

     72     20

:   

2 2 2
0 22 0 20 2 80 2 5− = Δ − = × = −

:      
1000 2 5 2500− = − = × − =
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+ = + = + >

»H  S²Ie
³»j  S²Ie 

 ) 3-      :  32  33(
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=
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    .      :  

2 2 2 28 4 80 4 5= + = + = =

   ) 3-      :  44  46(
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×
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112- »2«)  (
              4

+ .
   4      .

:   
4 22 +

2 42→ +
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=
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